MITRRAB %

¥R UM (2023] 531 &

sk

>E.fr1

Je I A e I 26 D Z{ﬂéﬂiﬂﬁlﬁﬂﬂi X
Jo B 3l K B A 1y

AT AR GA R AT A S F RaE, B4l AE:

A — 2 RARNABATAT XK R IR B E EH, (RIAKK
B AFRY, RIEMTHKNRE, EFE. THELE,
RTEE R KR EELE R AR OREEANEE R
FRIEY % 46 T XARAE, ERARN HE A B, N
ERHARETEFEE, IR TXE R EE R ARNMEF
KETEH T

—. BREXKMN

1 BEREMRA: F—MHAN 1.47 T/m>; & MK
2.2 J0/m3; B = AN 4.41 To/me. AT B AR

_1_



2. R T E AR Ak 0.8 TT/m3; BRE — B
BN 2.27 To/m3; & AN 3.0 TT/m?; # = AN
5.21 Jo/m?. PAT AN

3. REATHRE P WHEEERAF MPATERAKN N
B R P RN A 1.53/me. & AT AR AN

—. ERMEEKE

ERREMMKERFEADIANTE. F—WHEF
AXHAKE B KUT; &F_0#%EF~ AHKE 18m*—27m’
(2); F=OHEFr AHKE 2Tm* U L.

TR ESEAT “— P —%k, PRI P” WERKEEEH
KPATI AN, B R AR R _E DR 4 A,
—ANEFIEA M ES N — P77 . BAEIERS, DA
RSN ZRE “—p —K7 AL, FRBERAEERK
FRMHER, MHBAN TN AR UL E RE R B4, AERZ
R, ARKEER —FNWTER. 44, SRKETEF
%H.

=, iEBK

1. BXMEBEAR. N AR AR A, AW R
PN P, AAANEEE B4 45 TREANEG PB4
60 T, LB BEMEN, mEE FEMRBETFSE, &
EIEE S a: S NEEE RN = 3 1P

2. 5ARRE, BEARE (FHE) ADEZTF3IAMN, 7
DLFE A5 AR S IR WA AT R WA 3 i K R KRB, B m 1A,
BN ALK EAE R Am 5 L K.

_2_



. RIEZEA
MR RAE 58 Rl 75 K JCFE B . AR IR B A vE IR AL TR 57

3% AT AT
. ZEK
BARAVREELZEEXA P WMEIZEERE —O
o LA KN AT

75y HEXRTIEER

1. B RAEZNR ZRMEAE MRS RS 5 —&
HWEEREERAF, ZREARE % E R BZHAT,
B B AR . — R AR R B A A W
EEMEALREERA P R EARIE A XN BBRIAT
1l B 5 A A AR = IR KR AR R 5%

2. A b BN TR R OF A A B AR A,
RPN BOR-FREM, KEHTHEEAEMRS. R, fo
M IR IR, PR AR PRI R

3. AR BRI JE 3 i RON, R FAn et Ak
R WAMEARR AR LR FRIFE — R AR E S, #
KA BE A% (R — R EARTIBREANEY EX,
T R AR LY . KRNl ek, UEMEXE
B KA THE.

A E 2023 4F 11 A 1 HRHAT. EEHTLEMK
EEGR 2 (MR CxFRHTEREEAKETHHEN
oG ) (EREME (2015) 652 5 ) R BE L.

_3_



firfr: Sedl T KB K A7 A AN




Bt

JeiiHi X g

A UKD S

SN CWE S

Fs VIS L& JE ‘
KM — = 2 Pk
KZERZE | SKACESE | WIRAESE
1 Bk (B 1=A) A=18m? 1.47 0.08 0.95 0.25 2.75
2 HAK | R (A<Hirdh 2<B) A=18m*; B=27m’ 2.20 0.08 0.95 0.25 3.48
3 BE=R4(FER 3>B) B=27 Kk m? 4.41 0.08 0.95 0.25 5.69
4 Bk (B 1=A) A=18m? 227 0.08 0.95 0.25 3.55
5 | ZAK | BT (A<Brdh 2<B) A=18m’; B=27m’ 3.00 0.08 0.95 0.25 4.28
6 B=R (BB 3>B) B=27m? 5.21 0.08 0.95 0.25 6.49
; RSEATI RS E’\Jif}f&%ﬁgﬁ; APAT & KT Y 153 0.08 0.95 0.25 531




Pk WA, TRER. TEER. THHEE A,

T TERMRERE RS DNE 2023 4£ 10 Fl 23 H H &

_6_



